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FILL IN THE BLANKS:

. Comparing a quantity with another quantity is called
. Area is the amount of a closed shape occupies.
. Breadth of a rectangle is given by the formula: Area divided by

. The ratio of 50 g to 2 kg =
. One equivalent ratio of 6: 4 =
. Form of numeral used to count in sets of 5 is called

Choose the Correct one

7. The ratio of 1 hour to 300 seconds is :
a) 1:12 b) 1:5 ¢ 121 d) 5:1

8. To calculate side of a square when perimeter is given, we divide perimeter by:
a) 4 b) 6 c) 2 d) 8

9. If each side of a square with side 16m is halved, then its area reduces by :

a) 64  h)738 )192  d)256




10. A set of tally marks have :
a) 10counts b)5counts  c¢) 4 counts d) 6 counts .
11.X+Y =Y +X,The property is
a) Associative  b) Commutative c) Distributive  d) Closure property

SOLVE:

12.1n a school there were 73 holidays in a year. What is the ratio of number of
holidays to number of days in the year?

13.The perimeter of a square painting is 5m 40cm. Find the length of each side.
17.The cost of leveling a playground 51m long and 40m wide at Rs 35 per
square
meter. Also, find the cost of fencing it at Rs 50 per meter.

18. The perimeter of a square is 48m. The area of a rectangle is 4 sq.m less than the area
of the given square. If the length of the rectangle is 14m, then find its breadth.

19. Construct perpendicular bisectors to line segments of the given lengths

a) 6cm  b) 8cm

20. Sharma wants to divide Rs. 55,000 between his sons-Rahul and Mohit in the ratio of
their ages. If age of Rahul is 18 years and age of Mohit is 12 years, find how much
Rahul and Mohit will get ?

21. Organize the following marks obtained by 20 students in a math’s test, in a table.
15 18 12 15 16 18 14 15 12 1015 181612 1018 14 12 18.

X ) 6 7 8 12 15
Value 2 3 4 5 9 77

a) Find the rule for the pattern
b) Using the rule ,what is the value when X= 15
24 Which of the following pairs is a co-prime ?
a) 18 and 35
b) 17 and 68
25.Express the following as the sum of two odd primes
a) 18 b) 36
26. Construct an angle bisector for all the angles of a
triangle
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